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Guess Paper – 2011
Class – XII
 Subject – Mathematics

MM 50

Note –Atempt all questions .Q. no 1-2one mark ,3-8 four mark ,9-12 six marks each
1. If the following matrix is skew symmetric, find the values of a, b, c.

                   A  = 
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2. Find f(x) satisfying the following : 
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3. .Evaluate : [image: image4.png]x4
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4. Solve the differential equation:    
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5. Using properties of  determinants  .Prove that 
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6. Two dice are thrown simultaneously. If X denotes the number of sixes, find the expectation of X.
7. If 
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be three vectors   
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 and each one of them being perpendicular to sum of the other two, find 
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8. .If xy = e(x – y) , prove that [image: image16.png]
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9. Solve the system of equations:

x + 2 y – 3 z = - 4, 2 x + 3 y + 2 z = 2, 3 x – 3 y – 4 z = 11

10. Show that the volume of the greatest cylinder which can be inscribed in a cone of height h and semi-vertical angle α is 4/27 πh3 tan2 α.

11. Find the shortest distance between the lines whose vector equations are:

            r = ( 1 – t ) i + ( t – 2 ) j + ( 3 – 2 t ) k and r = ( s + 1 ) i + ( 2 s – 1 ) j – ( 2 s + 1 )k

12. Let X denote the number of colleges where you will apply after your results and P(X = x) denotes your probability of getting admission in x number of colleges. It is given that 
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(a) Find the value of k.

(b) What is the probability that you will get admission in exactly two colleges?

            (c) Find the mean and variance of the probability distribution
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